Wil

82T R IRIEL

RARARK "BECHAKR, BEER. HELPTEFR" NES,
BATHRERMEUTR, ARPRUESKRANSRRERS.







I} 1 I} 9

HONGJI HONGJI

TERS

TERS

~m&R5IETT /PRODUCT SERIES INTRODUCTION F=miitiz / PRODUCTS OVERVIEW

FAB Series FABR Series

TRhENER 42mm—220mm
BERMEIE | 14Nm—2000Nm

TRIEER Y 42mm—220mm
BEREIFE | 14Nm—2000Nm

R

FAD Series

FB Series

FPG/FPGA Series

B4y | 3/4/5/6/7/8/10
IRIERLY
12/15/20/25/30/35
) /15/20/25/30/.
40/50/60/70/80/100
B 4% | <1,£3,<5 arcmin
s g
W% | <3,£5,£7 arcmin
THEER Y 47mm — 255mm
BUEMLHIRE | 14Nm — 2000Nm
B4 | 4/5/7/8/10
IRIEREY
% 20/25/35/40/50
70/100
B | <1,£3,<5 arcmin
g
W% | <3,<5,<7 arcmin
TRENER 42mm—220mm
BUEMHIRE | 14Nm—2000Nm
g4y | 3/4/5/7/8/10
IR
15/20/2
™5 5/20/25/30/35
40/50/70/80/100
B 4% | <5arcmin
R
WK | <8 arcmin
10/ EERY | 40mm—160mm
EUEMHIME | 9Nm—423Nm
B4 | 3/4/5/7/8/10
BIELL
12/15/20/25/30
4
R 35/40/50/70/100
B4R | <6,<8 arcmin
i
W% | <8,<10 arcmin

01 HONGJI

FADR Series

FE Series

e

FAT Series

X B 4% | 3/4/5/6/7/8/10/14/20
RIELL,
15/20/25/30/35/40/50/60
W
70/80/100/120/140/160/200
B4 | <2,<4,<6 arcmin
E
W | <4,<7,<9 arcmin
THEIER 47mm — 255mm
BUERLIME | 14Nm— 2000Nm
B 4% | 4/5/7/8/10/14/20
B
R 5 20/25/35/40/50
70/100/140/200
B4R | <2,<4,<6 arcmin
e
W | <4,£7,£9 arcmin
THENER 70mm—235mm
EEMLOME | 14Nm—2000Nm
B | 3/4/5/7/8/10
I
W& 15/20/25/30/35
40/50/70/80/100
B4R | <5arcmin
e
W | <8 arcmin
THENIER 65mm—210mm
BUERIEIE | 18Nm—1020Nm
B 1/2/3
WELL | Ik | 4/5/6/7/8/10/15/20
=5 25/30/35/40/50/75
- 100/120/150/200/300
e By W R =%
5 g
<6arcmin |<10arcmin|<12arcmin

EETENR RN 2R AEBEMANF—RIZEN MR | e TERIMNGHIEA | BEUT—S2FERx
1{EIEE: {KF65db,

2(KEk: BRENA3MO A , WRANXS5M .

3. BERTEIS %A L , WERRTEI2%LA L,

4 BaNELE: A1IA8000RPM,

5.5k tb—RRIRETERETHES.

6.5fE: RAEREASING , BEEINRAEWAE |, IEREXRERN , R ERESRIKHERIRT
RS EE.,

7. SRR REREANIZTT | (TREEARMEEES | EEAA1/1000LA L,

FEmAE

R TENERIEN AR 2 M AT LA

Lin=ink. FEErodk,

2ETRE. BHEREATIL,

3.TUMNRRA. EF-Bahit. EaEtlRSIE L.

ARERNE. IR, IR, Bm. i6€. IMRITE. CEinErl.

PRODUCTS FEATURES

Precision planetary gear reducer is a new-generation of product developed by our company,with a compromise of advanced
technology both at home and abroad,its main features are as follows:

1.Low Noise: Under 65db.

2.Low Backlash: Backlash is under 3 arcmin.Backlash for 2-stage speed reduction is within 5 arcmin.

3.High Efficiency: Efficiency for 1-stage model exceeds 95% ,For 2-stage model exceeds 92%.

4 High Input Speed: Input speed allows for up to 8000 RPM.

5.High Torque: Higher torque output than that of conventional planetary gear reducers.

6.High Stability: Employs high tensile strength alloy steel.Gear hardening is made for the entire gear instead of only surface
hardening,which extends gear service life and maintain high accuracy as new after a long period of operation.

7.High Speed Reduction Ratio: The gear reducer is a modular deign.The planetary gear box can be connected.Speed reduction
ratio is over 1/1000.

PRECISION USAGE

Precision Planetary Gear Reducer is widely used in the following domain:

1. Aerospace, military industry.

2. Medical health, electronic information industry.

3. Industrial robots, Production automation, CNC machine tool manufacturing industry.

4. Motor, textile, printing, food, metallurgical, environmental protection engineering, warehouse logistics industr.

HONGJI 02



P ER ) 79

HONGJI HONGJI
TERS TERS
s o Lk A [5

TENIEEEEE] / GEAR BOX PERFORMANCE INFORMATION SMiZRTEZ / OUTLINE DIMENSION SHEET
A% % EE' | FABO42 | FABOGO | FABOS0 | FAB115 | FAB142 | FAB180 | FAB220 FAB-L1(54/1-STAGE)
3 20 55 130 208 342 588 1,140 N »
4 19 50 140 290 542 1,050 1,700 AR/ INPUT co iR/ OUTPUT
5 22 60 160 330 650 1,200 2,000 o
1 6 20 55 150 310 600 1,100 1,900 o L2 B
7 19 35 140 300 550 1100 1,800 L8 1 w7 o
8 17 35 120 260 500 1,000 1,600 s ‘ N
10 14 23 48 140 370 520 1,220 D 1 .
12 20 55 130 208 342 588 1,140 L6 L5 | &
15 20 55 130 208 342 588 1,140 ! \ i
BUEHI 56 Ty Nm 20 19 50 140 290 542 1,050 1,700 = A R
25 22 60 160 330 650 1,200 2,000 1 1 3 = 5 }\ 818
30 22 60 160 330 650 1,200 2,000 ¢ 1
. 35 22 60 160 330 650 1,200 2,000 Lo | cs R
40 22 60 160 330 650 1,200 2,000 ~N | 5
50 22 60 160 330 650 1,200 2,000 \ D
60 20 55 150 310 600 1,100 1,900 u oo o
70 19 35 140 300 550 1,100 1,800 c2 L3 - D6
80 17 35 120 260 500 1,000 1,600 ——— c4
100 14 23 48 140 370 520 1,220
BRI NET, Nm 1,2 3~100 ST 5B
FUEMINGEIR ne rpm 1,2 3~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000 FAB-L2 (W4%/2-STAGE)
S AR, rpm 1,2 3~1 10,000 10,000 8,000 8,000 6,000 6,000 4,000 . .
F:T?,E%Ln } . 1 310 - - <1 <1 <1 <1 <1 N/ INPUT o #this/OUTPUT
BIEHR PO arcmin 2 12~100 - - B <3 <3 <3 <3 - -
o s . 1 3~10 <3 <3 <3 <3 <3 <3 <3
BEER P1 arcmin 2 12~100 <5 < <5 <5 <5 <5 <5 oc? L8 1 ‘ L7
e s . 1 3~10 <5 <5 <5 <5 <5 <5 <5 \
PR P2 aremin 5 12~100 <7 <7 <7 <7 <7 <7 <7 | \ — g
AR Nm/aremin 1,2 3~100 3 7 14 25 50 145 225 . Le L5 i &
BEEREN Fe N 1,2 3~100 780 1,530 3,250 6,700 9,400 14,500 50,000 & | | o) |
RIFHE S F,, N 1,2 3~100 350 630 1,300 3,000 4,000 6,200 35,000 R — N I AR R
BVFHE T F, 0 N 1,2 3~100 390 765 1625 3,350 4,700 7,250 25,000 z P | BEE
ERER hr 1,2 3~100 20,000 % o . ‘ e
e ) 1 3~10 297% & Lo | s 2
el % 2 12~100 294% ) [
- kg 1 3~10 0.5 1.3 3.7 7.8 14.5 29 48 \ 4 —
i 2 12~100 0.8 1.9 4.1 9 17.5 33 60 c2 u c10
ERRE © 1,2 3~100 -10°C~+90°C 03 4 L D6
R 1,2 3~100 & REiEmAR
[ RED 1,2 3~100 IP65
RIEFE 1,2 3~100 FEAE 4*'«51"9
M2 1E (n,=3000rpm) dB 1,2 3~100 <56 <58 <60 <63 <65 <67 <70 . D5
Kﬁﬁmﬁ\omput Diameter < o
BORV R E
D3he D3he

7l i # T
1% VR BE' | FAB042 FBO60 FAB09O FAB142 | FAB180 | FAB220 s 1 §HAIE 52
6 0.6

& 0.03 A .61 3.25 9.21 28.98 69.61
¢ 0 oM oa am 18 2w sy & — R 01 0z | 03| 04| 0 | 00 |u1|L2liolalialio] 7 o s 01| Gz | Ga | s oo Loo| o oo | co lorole] i
1 6 003 013 045 265 725 2275 5172 FAB-042 t; @50 @34 @13 @35 M4x0.7P @56 42 26 55 1 14 25 4 195 10 Ziz j:mi;‘z jg: zz 222 i jz 6:;5 ij; :z 5 15
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97 L1 @70 4-M5x12 <@16 34 @50 5 60 78 115 55
8 0.03 0.13 0.44 258 7.07 22.59 50.84 FAB-060 Lo @70 @55 @16 §50 MS08P 080 60 37 7 1522 3 6 28515 F RSN IS e R R R e e e B I
-M5x < o
10 0.03 0.13 0.44 2.57 7.03 22.51 50.56 1 250 | Aol | @ | e | 7 | ® | @ e | 6
12 0.03 0.03 0.13 0.47 2.71 7.42 23.29 FAB-090 = @100 @7 @22 @80 M8x1.25P @116 90 48 10 1528 4 8 365 19 710 avem e e e e e ete | ot 6 245
15 0.03 0.03 0.13 0.47 2.71 7.42 23.29 Ly 2 :
BEHIEE J, kg - cm’ 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29 FAB-115 L1 2130 @9 @32 @110 M12x1.75P @152 115 65 12 2 40 5 10 51 28 G SR S ) N N I I N 10 35
25 0.03 0.03 0.13 0.47 271 7 49 23 29 L2 @90 4-M6x14 <@24 44 @70 7 90 148 213 8
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29 FAB-142 ! o165 011 240 2130 MiGeP o186 142 97 15 3 65 5 12 7o 35 20 AMxIS <038 725 0110 7 142 15452515 105
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29 L2 0145 4-M8x25 <@35 65 @110 11 130 190 287 20
2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29 FAB-180 L1 @215 @13 @55 @160 M20x2.5P @240 180 105 20 3 70 6 15 82 42 ) N (S A N i 16 59
50 0.03 0.03 0.13 0.44 257 7.03 22 .51 L2 @200 4-M12x30 <@38 83 ©1143 8 180 232 337 30
60 0.03 0.03 0.13 0.44 2.57 7.03 22.51 FAB-220 L1 @250 @17 @75 @180 M20x2.5P @292 220 138 30 3 90 7 20 105 42 R 20 79.5
70 0.03 0.03 0.13 0.44 2.57 7.03 22 .51 L2 2200 4-M12x30 <@48 85 @1143 7 180 277 415 75
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51 R . R - L
100 0.03 0.03 0.13 0.44 257 7.03 2251 * C1“C773/L}%UE_’J$1§}§WZRTI , Eﬁﬁﬁgﬁg*ﬁﬂf?ﬁﬁﬂa . * C8~C10Eﬁ§§%$ﬁ§$ﬁﬁ'ﬁﬁﬁﬁ§§%
) ) ~C7are motor (metric std shown) specific dimensions , which could be customised. ~ ength will vary depending on motor.
1. B H(I=N, / N..) 2. A 100 rpm B, (BRI AR * C1~C7 tor (meti td sh ) fic d hich Id b tomised * C8~C10 Length will yd ding t

* EFERERERAFS -2 —.

03 HONGUJI HONGJI 04



13

HONGJI

I

TEFS

TENIEEESEH / GEAR BOX PERFORMANCE INFORMATION

A&

FUERH SIFE Ty

RAMEAET,
BUERMNEEE N,
RAMNEEEN,,

BIEEER PO
BEE P1
HRAESBR P2
HEERIE
BEREEAN Fo
BFME S F,

BVFHE N Frp’
ERE®m

BE DN

s
fERRE

pbic)

ig7ak 27

el

%% & (n,=3000rpm)

IR IR E

BHIRE J,

1 BUEEE( =N,/ N,,)
* EEEEERERET Sz —.

05 HONGJI

Nm

Nm
rpm
rpm

arcmin
arcmin

arcmin

Nm/arcmin
N
N
N
hr

%

kg
©

dB

kg - cm’

8 20 55

130 208 342 588 1,140
4 19 50 140 290 542 1,050 1,700
5 22 60 160 330 650 1,200 2,000
6 20 55 150 310 600 1,100 1,900
1 7 19 35 140 300 550 1,100 1,800
8 17 35 120 260 500 1,000 1,600
10 14 23 48 140 370 520 1,220
14 - 35 140 300 550 1,100 1,800
20 - 23 48 140 370 520 1,220
15 20 55 130 208 342 588 1,140
20 19 50 140 290 542 1,050 1,700
25 22 60 160 330 650 1,200 2,000
30 22 60 160 330 650 1,200 2,000
35 22 60 160 330 650 1,200 2,000
40 22 60 160 330 650 1,200 2,000
50 22 60 160 330 650 1,200 2,000
2 60 22 60 160 330 650 1,200 2,000
70 22 60 160 330 650 1,200 2,000
80 22 60 160 330 650 1,200 2,000
100 22 60 160 330 650 1,200 2,000
120 - - 150 310 600 1,100 1,900
140 - - 140 300 550 1,100 1,800
160 - - 120 260 500 1,000 1,600
200 - - 48 140 370 520 1,220
1,2 3~200 fEF L 1%

1,2 3~200 5,000 5,000 4,000 4,000 3,000 3,000 2,000
1,2 3~200 10,000 10,000 8,000 8,000 6,000 6,000 4,000
1 3~20 - - <2 <2 <2 <2 <2
2 15~200 - - <4 <4 <4 <4 <4
1 3~20 <4 <4 <4 <4 <4 <4 <4
2 15~200 <7 <7 <7 <7 <7 <7 <7
1 3~20 <6 <6 <6 <6 <6 <6 <6
2 15~200 <9 <9 <9 <9 <9 <9 <9
1,2 3~200 3 7 14 25 50 145 225
1,2 3~200 780 1,530 3,250 6,700 9,400 14,500 50,000
1,2 3~200 350 630 1,300 3,000 4,000 6,200 35,000
1,2 3~200 390 765 1,625 3,350 4,700 7,250 25,000

1,2 3~200 20,000*

1 3~20 >95%

2 15~200 >92%

1 3~20 0.9 2.1 6.4 13 245 51 83
2 15~200 1.2 2.5 7.8 14.2 27.5 54 95
1,2 3~200 -10°C~+90°C
1,2 3~200 & A iEimAE
1,2 3~200 IP65
1,2 3~200 FEFHE
1,2 3~200 <61 <63 <65 <68 <70 <72 <74

MHELE

SMZRTEZ / OUTLINE DIMENSION SHEET

ENI%/ INPUT

Cc9

L2 c8
L8 L7
!
D
L6 L5 v
\ |
~
3 | |
L9

FABR-L2 (%%%/2-STAGE)

EINI%/ INPUT

HHR\Output Diameter

3~10 0.09 0.35 2.25 6.84 23.4 68.9 135.4

1 14 - 0.07 1.87 6.25 21.8 65.6 119.8
20 - 0.07 1.87 6.25 21.8 65.6 119.8

2 15~100 0.09 0.09 0.35 2.25 6.84 23.4 68.9
120~200 = = 0.31 1.87 6.25 21.8 65.6

2. 4540 100 rpm B, (EAFiHMPOE.

s — R 01|02 03 o+ | 05 | 00 |11 12]13 Lol s 15
L1

L4

C11

D3h6

A S1

L3 :’ }
| | ol «
I I ol ©
g O
C3F7 8
C567
Cc9
L2 c8
L8 L7
x
\)
L6 L5
N
2 \ \
N
E ] |
o L9 [ O o
——1 7 ==
L4 | | 5
T ol s
L3 IL | O ] ol ©

B1ho

D5
T &

D3he

WA S2

C6é

HONGJI
TERS
itim/OUTPUT

Hiiw/OUTPUT

oLt

42 83

246 4-M4x10

o1

26 @30 4

109 55 955

FABR-042 @50 @34 @13 @35 M4x0.7P @56 42 26 55 1 14 25 4 195 10 15

L2 246 4-M4x10 =@11 26 @30 4 42 106.5 1325 55 955

L1 @70 4-M5x12 <@16 34 @50 5 60 107 144 5.5 100.5
FABR-060 @70 @55 @16 @50 M5x0.8P @80 60 37 7 1522 3 6 285 15 5 18

L2 @70 4-M5x12 <@16 34 @50 5 60 134 171 55 100.5

L1 @90 4-M6x14 <@24 44 @70 6 90 155 203 8 142
FABR-090 2100 @7 @22 @80 M8x1.25P @116 90 48 10 1528 4 8 36.5 19 6 245

L2 @70 4-M5x12 <@19 34 @50 5 60 144 192 55 1155

L1 9145 4-M8x25 =<@35 66 @110 14 130 201.5 266.5 19.5 184
FABR-115 @130 @9 @32 @110 M12x1.75P @152 115 65 12 2 40 5 10 51 28 10 35

L2 @90 4-M6x14 <@24 44 @70 6 90 204 269 8 1545

L1 @145 4-M8x25 =@38 83 @110 11 142 236 333 19.5 228
FABR-142 2165 @11 @40 @130 M16x2P @186 142 97 15 3 65 5 12 79 36 12 43

L2 9145 4-M8x25 =@35 66 @110 14 130 256.5 353.5 19.5 197.5

L1 @200 4-M12x30 <@48 85 @1143 7 180 289 394 7.5 303.5
FABR-180 2215 @13 @55 @160 M20x2.5P @240 180 105 20 3 70 6 15 82 42 16 59

L2 @200 4-M12x30 <@38 85 @114.3 15 180 322 427 21.5 249

L1 @235 4-M12x30 <@55 120 @200 7 220 346 484 20 3785
FABR-220 @250 @17 @75 @180 M20x2.5P @292 220 138 30 3 90 7 20 105 42 20 79.5

L2 @200 4-M12x30 <@48 85 @1143 7 180 383 521 7.5 3235

* CI~CTARFIDIAERRZ RT | AIRIES 2R RmEM.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised.

* C8~C10MEZ A= BRI R R RTER.
* C8~C10 Length will vary depending on motor.

HONGJI 06



HEL

HONGJI

TER
TENIEEESE] / GEAR BOX PERFORMANCE INFORMATION

i
4 19 48 130 270 560
22 60

1,100 1,700
5 160 330 650 1,200 2,000
1 7 19 B35) 140 300 550 1,100 1,800
8 17 35 120 260 500 1,000 1,600
10 14 23 48 140 370 520 1,220
20 19 48 130 270 560 1,100 1,700
Eﬁiﬁjﬂjﬁ%ﬁTm Nm 25 22 60 160 330 650 1,200 2,000
35 22 60 160 330 650 1,200 2,000
2 40 22 60 160 330 650 1,200 2,000
50 22 60 160 330 650 1,200 2,000
70 19 35 140 300 550 1,100 1,800
100 14 23 48 140 370 520 1,220
A EET, Nm 1,2 4~100 31EFEMHH /148
R EIMNFEIE Ny pm 1,2 4~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
AR N, rpm 1,2 4~100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
e s . 1 4~10 - - <1 <1 <1 <1 <1
BIFE TR PO arcmin g G = = = = — — =
dom e o s . 1 4~10 <3 <3 <3 <3 <3 <3 <3
T L aremin 2 20~100 =5 <5 <5 <5 <5 <5 <5
e _ 1 4~10 <5 <5 <5 <5 <5 <5 <5
R P2 Clsnliy 2 20~100 <7 <7 <7 <7 <7 <7 <7
HEERITE Nm/arcmin 1,2 4~100 7 13 31 82 151 40 1,006
BRAZHNEM, Nm 1,2 4~100 42.5 125 235 430 1,300 3,064 5,900
AiFiE N F, N 1,2 4~100 1,080 2,110 2,310 4,800 6,200 5,450 10,600
ERHF® hr 1,2 4~100 30,000
o \ 1 4~10 >97%
N 0 2 20~100 >94%
- 1 4~10 0.7 1.2 3.0 5.6 11.9 31.6 56.1
3 kg
2 20~100 1.0 1.6 3.7 7.3 15.9 36.9 70.4
ERIRE °C 1,2 4~100 -10°C~+90°C
R 1,2 4~100 & RLE R HBE
BEIP R 1,2 4~100 IP65
REFE 1,2 4~100 FEARE
1% &1{& (n,=3000rpm) dB 1,2 4~100 <56 <58 <60 <63 <65 <67 <70

IR H 5 B 1R E

4

0.03 0.14 0.51 2.87 7.54 25.03 58.31

5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
1 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0.13 0.45 2.62 7.14 22.48 50.97
10 0.03 0.13 0.44 2.57 7.03 22.51 50.56
IR J, kg * o 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
2 40 0.03 0.03 0.13 0.44 2.57 7.03 22.51
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
1. BUREE( =N,/ N,,,) 2. fythEEEL 100 rpmit, {ERTFHMIME=ZME.

* EGEEERERFR 52—

07 HONGJI

MHELE

TERS
SM2RTEZ / OUTLINE DIMENSION SHEET
B/ INPUT < FADO4 7% Hih/OUTPUT

L3 L5 L7

o037

D5
D4n7
D3
D2h7
D1H7

Q C3F7.
C567
D6h7

!
|
I

izéﬁRtrmﬁJ c4
1SO 9409 SHER 0D
AD064-AD255
FAD-L2(®%%/2-STAGE)
c9
SNI®/ INPUT 0 e
L2 L4 L6
=2 ‘
]
Ol
L1 | (\
s 2| g & F i | T 0 sl gl 2
a o o 1} B 4»;{ b &
1 | ] cs
=t f

!
|
I

1

c8

EEERIEKER J c4
|sg{[9);gg JHER 0D
FAD255%)tHi/OUTPUT FAD2004g)4:i%/OUTPUT FAD1408)His/OUTPUT

o124

11-M10x22.5

s —— 79 01| 02 | 00 | s | 05 | 0o [11aualalslunl L7 1] Ga | oa Lo oo oo o7 oo co]
48 55 70

L1 185 @46 4-M4x10 =@11 26 @30 4

FAD-047 @12 @28 @46.2 @47 @72 @60 4 3 1957 4 5 56*2
L2 46 @46 4-M4x10 <@11 26 @30 4 48 55 975
L1 235 @70 4-M5x12 <@16 345 @50 5 60 7 815
FAD-060 20 @40 @632 @64 @86 @70 8 3 1957 4 77 66*2
L2 525 @70 4-M5x12 <@16 345 @50 5 60 7 1075
L1 27 @90 4-Méx14 =<@24 46 @70 6 80 7.5 1035
FAD-090 315 @63 @89.2 @90 2118 @9 12 6 30 10 7 8 90*3
L2 54 @70 4-M5x12 =@19 345 @50 5 60 7 1225
L1 37 ©145 4-M8x25 =@35 64 @110 11 130 19 135
FAD-110 40 @80 @109.2 @110 @145 @120 12 6 29 10 8 10 110*3
L2 73 @90 4-M6x14 <@24 46 @70 6 80 7.5 1495
L1 62 @145 4-M8x25 =@38 75 @110 11 130 19 164
FAD-140 @50 @100 @139.2 @140 @179 @152 12 8 38 14610 12 145*3
L2 96 @145 4-M8x25 =@35 64 @110 11 130 19 2055
L1 69.5 @200 4-M12x28 <@48 85 ©1143 6 180 10 199.5
FAD-200 @60 @160 @199.2 @200 @247 @212 16 8 50 15 12 15 200*5
L2 132.5 @145 4-M8x25 =<@38 75 @110 11 130 19 256.5
L1 82 @235 4-M12x28 <@55 116 @200 6 220 10 256.5
FAD-255 @100 @180 @254.2 @255 @300 @255 20 12 66 20 18 20 238*5
L2 148 @200 4-M12x28 <@48 85 ©1143 6 180 10 311.5
* CI~CTARBIDREERZ R | IiREEFERAMEH. * C8~C9 B E DA AMAMESR.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised. * C8~C9 Length will vary depending on motor.

HONGJI 08



HEL

HONGJI

TEFS

TENEREEE / GEAR BOX PERFORMANCE INFORMATION
st
4 19 48 130 270 560 1,700

1,100
5 22 60 160 330 650 1,200 2,000
7 19 55 140 300 550 1,100 1,800
1 8 17 35 120 260 500 1,000 1,600
10 14 23 48 140 370 520 1,220
14 - 35 140 300 550 1,100 1,800
20 - 23 48 140 370 520 1,220
20 19 48 130 270 560 1,100 1,700
AR TI5E Ty i 25 22 60 160 330 650 1,200 2,000
35 22 60 160 330 650 1,200 2,000
40 22 60 160 330 650 1,200 2,000
2 50 22 60 160 330 650 1,200 2,000
70 22 60 160 330 650 1,200 2,000
100 22 60 160 330 650 1,200 2,000
140 - - 140 300 550 1,100 1,800
200 - - 48 140 370 520 1:220
BRAWENET, Nm 1,2 4~200 3fEMENE H%E
BN E I NFEIE Ny rpm 1,2 4~200 5,000 5,000 4,000 4,000 3,000 3,000 2,000
BABANFEIEN,, rpm 1,2 4~200 10,000 10,000 8,000 8,000 6,000 6,000 4,000
e . 1 4~20 - - <2 <2 < < <
ISR PO aremin 2 20-200 - - <4 <4 <4 <4 <4
. _ 1 4~20 <4 <4 <4 <4 <4 <4 <4
BEERE P1 arcmin
2 20~200 <7 <7 <7 <7 <7 <7 <7
SRR P2 arcmin 1 4~20 <6 <6 <6 <6 <6 <6 <6
2 20~200 =9 <9 <9 <9 <9 <9 <9
HEERI % Nm/arcmin 1,2 4~200 7 13 31 82 151 440 1,006
BASHAEM, Nm 1,2 4~200 42.5 125 235 430 1,300 3,064 5,900
BFMEANF, N 1,2 4~200 1,080 2,110 2,310 4,800 6,200 5,450 10,600
ERFHFw hr 1,2 4~200 30,000
e 1 4~20 >95%
BEN % 2 20~200 =929
- 1 4~20 1.1 2.1 5.9 10.5 21.9 50.9 85.4
28 kg
2 20~200 1.4 1.9 4.5 9.8 20.1 45.4 85.9
ERRE “C 1,2 4~200 -10°C~+90°C
A 1,2 4~200 & RSB B
BAR LR 1,2 4~200 IP65
AT 1,2 4~200 EE75mE
& {8 (n,=3000rpm) dB 1,2 4~200 <61 <63 <65 <68 <70 <72 <74

BIENE IR E

4~10 0.09 0.35 2.25 6.84 23.4 68.9 135.4
1 14 - 0.07 1.87 6.25 21.8 65.6 119.8

——— kg - om’ 20 - 0.07 187 625 218 656  119.8

20~100 0.09 0.09 0.35 2.25 6.84 23.4 68.9

140~200 - - 0.31 1.87 6.25 21.8 65.6

1. BUIR (=N, / N,.,) 2. iFeE 100 rpm B, {EA T OME.
* EEEREREREG 52—

09 HONGJI

MHELE

HONGJI

TERS

SMEZRTEZ / OUTLINE DIMENSION SHEET

N/ INPUT FADRO47%iHi%/OUTPUT

oC7

i

- I

\
95
D5
Dan7
D3
D2n7
D1H7
T
/
L ‘
) Y
c8
c9

EZRRTHRER J |
1SO 9409

[ I

| |
AD0B4-AD255 | J D j\t:‘#\tgg
FADR-L2 (%04%/2-STAGE) o] |

c4

NI/ INPUT cio
L3 L5
L2 L4|
oc7 -
E) |
N NN L1 ]
8 %|8| § £ i -
= | 8
| L :
/ | | 1
= 3
}ﬁéfﬁﬁfrm,ﬂ.ﬁj *7‘54*@ 1
Ameli?\gggg \EQFLJ 8}
C567

FADR255%Him/OUTPUT FADR200%5Him/OUTPUT FADR140%5Hi%x/OUTPUT

Q\ 11-mex17

.é‘\_‘ 1-M10225
20

]

L]
s —_RY 01102103 |04 05 JLillzlLalLelis | C1] C2 [ Calce] Co os 7 C GO Co ]
5 48

L1 @46 4-M4x10 =@11 26 @30 3. 74 1045 107.5
FADR-047 @12 @28 @46.2 @47 a72 4 3 195 7 4

L2 @46 4-M4x10 <@11 26 @30 35 48 74 1045 122

L1 @70 4-M5x12 <@16 34 @50 5 60 815 1165 126
FADR-060 20 @40 @632 @64 286 8 3 1957 4

L2 @70 4-M5x12 <@16 34 @50 5 60 815 116.5 1325

L1 @90 4-Méx14 <@24 44 @70 7 80 111.5 1635 1725
FADR-090 315 @63 @89.2 @90 2118 12 6 30 10 7

L2 Q70 4-M5x12 <219 34 @50 5 60 855 13225 163

L1 @145 4-M8x25 =<@35 60 @110 8 130 144 209 201
FADR-110 40 @80 ©109.2 @110 @145 12 6 29 10 8

L2 @90 4-M6x14 =<@24 44 @70 7 80 111.5 170.5 217.5

L1 @145 4-M8x25 <@38 60 @110 8 130 164.5 2455 263.5
FADR-140 @50 @100 @139.2 @140 @179 12 6 38 14.6 10

L2 @145 4-M8x25 <@35 60 @110 8 130 144 219 2695

L1 @200 4-M12x28 <@48 85 @1143 6 180 213.5 316 3345
FADR-200 280 @160 @199.2 @200 @247 16 8 50 15 12

L2 @145 4-M8x25 <@38 60 @110 8 130 164.5 269.5 333.5

L1 @235 4-M12x28 <@55 116 @200 6 220 268.5 398.5 392
FADR-255 2100 @180 @254.2 @255 @300 20 12 66 20 18

L2 @200 4-M12x28 <@48 85 @1143 6 180 2135 340 403
* CI~CTARTIDKNEERZ R | AiREEFEREIMER. * C8~CY MELEDAN A RTMEMES.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised. * C8~C9 Length will vary depending on motor.

HONGJI 10



HEL

HONGJI

TEFS

E e / GEAR BOX PERFORMANCE INFORMATION

LB B RS Lo | o | R | res | L eteo | e |

EEBH I,y

BB IIRET,,
BUESRNEEE N
BRABINEEEN
s

HEERIME
BFREENF,
BVFRIF e
YRR,
S

&N
s
(EFERE
i
PP
Byl

IEE5E (n,=3000rpm)

RN EE TR E
LA

HaiRE J

1IREREL( =N,/ N,,,)

* BRI RERES 52—,

11 HONGJI

Nm

Nm

rpm

rpm
arcmin

Nm/arcmin

N
N
N
hr

%

kg
°c

dB

kg - cm

2. @ige 100 rom B, (EATFEHHPOME.

1,140
4 19 so 140 290 542 1,050 1,700
5 22 60 160 330 650 1,200 2,000
7 19 35 140 300 550 1,100 1,800
17 35 120 260 500 1,000 1,600
14 23 48 140 370 520 1,220
20 55 130 208 342 588 1,140
19 50 140 290 542 1,050 1,700
22 60 160 330 650 1,200 2,000
22 60 160 330 650 1,200 2,000
22 60 160 330 650 1,200 2,000
22 60 160 330 650 1,200 2,000
22 60 160 330 650 1,200 2,000
19 35 140 300 550 1,100 1,800
17 35 120 260 500 1,000 1,600
14 23 48 140 370 520 1,220
1,2 3fEEE %R
1,2 5,000 5,000 4,000 4,000 3,000 3,000 2,000
1,2 10,000 10,000 8,000 8,000 6,000 6,000 4,000
<8 <8 <8 <8 <8 <8 <8
<12 <12 <12 <12 <12 <12 <12
1,2 3 7 14 25 50 145 225
1,2 780 1,530 3,250 6,700 9,400 14,500 50,000
1,2 350 630 1,300 3,000 4,000 6,200 35,000
1,2 390 765 1,625 3,350 4,700 7,250 25,000
1,2 20,000
1 >97%
2 >94%
1 0.5 1.3 3.7 7.8 14.5 29 48
2 0.8 1.9 4.1 9 17.5 33 60
1,2 -10°C~+90°C
1,2 BREEHE
1,2 P65
1,2 =AM
1,2 <56 <58 <60 <63 <65 <67 <70
FB042 FB060 FB090 FB115 FB142 FB180 | FB220
0.03 0.16 0.61 3.25 9.21 28.98  69.61
0.03 0.14 0.48 2.74 7.54 23.67 54.37
0.03 0.13 0.47 2.71 7.42 23.29  53.27
0.03 0.13 0.45 2.62 7.14 22.48 50.97
0.03 0.13 0.44 2.58 7.07 22.59 50.84
0.03 0.13 0.44 2.57 7.03 22.51 50.56
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51

MHELE

SMEZRTEZ / OUTLINE DIMENSION SHEET

INim/ INPUT

HONGJI
TERS
Hitim/OUTPUT

|
L5 [ &
1 ~
™~ = | —_T ~| F | e Y
o 3 14 oja @l W
a - L Ji Oy O
L9 | c6 )
L4
Cc10 4-D2
|L3] - 0o
c4
FB-L2 (W%%/2-STAGE)
NI/ INPUT i Hi%/OUTPUT
L2
5]
1
L5 E— &
~ T
3 = 5|8 - ég 2
Ccé
L9 5
L4 I
c10
L3
B1ho
D5
HIH4HE\Output Diameter | (o
D3h6 D3he
AL S1 B S2
e o o e o e
L1 @46 4-M4x10 <@11 @30 42 655 915
FB-042 @50 @34 @13 @35 M4x0.7P @57 @42 @46 42 26 55 1
L2 @46 4-Max10 <@11 26 @30 4 42 8 112 55
L1 @70 4-M5x12 <@16 34 @50 5 60 78 115 55
FB-060 @70 @55 @16 @50 M5x0.8P @80 @60 @65 60 37 7 1.5 22 5 18
L2 @70 4-M5x12 <@16 34 @50 5 60 105 142 55
L1 @90 4-M6x14 <@24 44 @70 7 90 98 146 8
FB-090 @100 @7 @22 @80 M8x1.25P @116 @87 @90 90 48 10 1.5 28 6 245
L2 @70 4-M5x12 <@19 34 @50 5 60 1145 1625 55
L1 0145 4-M8x25 <@35 645 @110 11 130 136 201 195
FB-115 @130 @9 @32 @110 M12x1.75P @1520114.50118 115 65 12 10 35
L2 @90 4-M6x14 <@24 44 @70 7 90 1495 2145 8
L1 0145 4-M8x25 <@38 725 @110 7 142 1545 251.5 19.5
FB-142 @165 @11 @40 @130 M16x2P @186 @142 @150 142 97 15 12 43
L2 0145 4-M8x25 <35 645 @110 11 130 189 286 195
L1 2200 4-M12x30 <@48 85 @1143 7 180 179 284 7.5
FB-180 @215 @13 @55 @160 M20x2.5P @240 @180 @184 180 105 20 16 59
L2 @200 4-M12x30 <@38 82 ©1143 8 180 235 340 30
L1 235 4-M12x30 <@55 120 @200 7 220 230 368 22
FB-220 @250 @17 @75 @180 M20x2.5P @292 @218@255.5220 138 30 20 79.5
L2 2200 4-M12x30 <@48 85 ©1143 7 180 264 402 7.5

¥ CI~CTARHIDRERRZRY | AIiREE P EREIREM.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised.

* C8~COMEZ i DA RIMARER.
* C8~C9 Length will vary depending on motor.

HONGJI 12



I} 3 # I} 73 #
HONGJI HONGJI
TERS TEZRS
= £l SRy WA [
EN RS /GEAR BOX PERFORMANCE INFORMATION SvizR~TE %% / OUTLINE DIMENSION SHEET
1,140 e N
4 5o 14o 290 542 1 ,050 1,700 NG/ INPUT co i /OUTPUT
; 5 60 160 330 650 1,200 2,000 L2 cs
7 35 140 300 550 1,100 1,800 c7 w7
8 35 120 260 500 1,000 1,600
10 23 48 140 370 520 1,220 ;
15 55 130 208 342 588 1,140 L6 L5
ey - 20 50 140 290 542 1,050 1,700 | Q‘r
ER & 25 60 160 330 650 1,200 2,000 5 8| I ] il 515
30 60 160 330 650 1,200 2,000 | L I
% 35 60 160 330 650 1,200 2,000 L1 La [ [
40 60 160 330 650 1,200 2,000 \_
50 60 160 330 650 1,200 2,000
70 35 140 300 550 1,100 1,800 L3 c10 o
80 35 120 260 500 1,000 1,600 o -
100 23 48 140 370 520 1,220
BARHIH T, Nm 1,2 3~100 3fERERIHIAE
eGSR rpm 1,2 3~100 5,000 4,000 4,000 3,000 3,000 2,000
BABMNEEEN,, rpm 1,2 3~100 10,000 8,000 8,000 6,000 6,000 4,000 FE-L2 (W4%/2-STAGE)
g arcmin 1 3~10 <8 <8 <8 <8 <8 <8 o .
2 12~100 <12 <12 <12 <12 <12 <12 N/ INPUT Hiig/OUTPUT
RN Nm/arcmin 1,2 3~100 7 14 25 50 145 225 co
BUFRANF, N 1,2 3~100 1,530 3,250 6,700 9,400 14,500 50,000 o s
BVFAAIIF 2016’ N 1,2 3~100 630 1,300 3,000 4,000 6,200 35,000 .
BRI oo’ N 1,2 3~100 765 1,625 3,350 4,700 7,250 25,000
EFES hr 1,2 3~100 20,000
. 1 3~10 >97%
Al % 2 12~100 2949, e i
— 1 3~10 1.3 3.7 7.8 14.5 29 48 R
B8 kg 2 12~100 1.9 4.1 9 17.5 33 60 8 3 E;p
{ERRE °c 1,2 3~100 -10°C~+90°C » "
=] 1,2 3~100 BRkEEHE
it m= 1,2 3~100 1P65
3
ZRUETTE] 1,2 3~100 fEs=val :
IEE5{E(n,=3000rpm) dB 1,2 3~100 <58 <60 <63 <65 <67 <70

B1ng

.\ _ D5
):JZ *J-LE#?E}JF% HiHHHE\Output Diameter ETCJ

0.61 3.25 9.21 28.98 69.61 D3ne DS3ne
4 0.14 0.48 2.74 7.54 23.67 54.37 AR S1 A S2
5 0.13 0.47 2.71 7.42 23.29 53.27
: : : : : @70 4-M5x12 115
180 812 8:2 2:3 ;8; 2;:? :ggg FE-070 L2 @62 M5x10 @16 @52 M5x0.8P @70 3B 5 1522 3 85 L o6 34 250 5 60 107 142 55 18
. . . . . . L1 @90 4-M6x14 <@24 44 @70 7 90 102 146 8
15 0.03 0.13 0.47 271 7.42 23.99 FE-090 Lp 80 Mex12 022 068 M8x125P @90 19 44 6 1528 4 365 0 o oo o 60 s 1e2s 55 © 240
—y e 2 AU 205 el 0.47 2 [ eied FE-120 L 108  M8x16 @32 @90 M12x1.75P @120 28 62 9 2 40 5 51 | e e e e BT | e | 2| e 10 35
HERE kg - cm 25 0.03 0.13 0.47 2.71 7.42 23.29 ) L2 X - @90 4-M6x14 <@24 44 @70 7 90 15252142 8
30 0.03 0.13 0.47 2.71 7.42 23.29 FE-155 L1 140 Miox0 240 2120 Miexop o155 36 94 12 3 65 5 79 2140 MBS 038 725 QU0 7 142 1575 2515 195
35 0.03 0.13 0.47 271 7.42 2329 L2 0145 4-M8x25 <@35 645 @110 11 130 192 286 195
- : - - - L1 0200 4-M12x30 <@48 85 1143 7 180 184 284 7.5
2 L
40 0.03 0.13 0.47 2.71 7.42 23.29 FE-205 Lo O184 M1222 055 0160 M20x25P @205 42 100 15 3 70 6 82 oo oo 0143 8 180 230 sa0 20 © O
50 0.03 0.13 0.44 2.57 7.08 22.51 FE-235 L1 0210 Mi6x28  O75 B180 M20x2.5P 0235 42 126 18 3 90 7 o5 oo +M120 <055 T B R i 20 795
70 0.03 0.13 0.44 2.57 7.03 22.51 : 2 * e @200 4-M12x30 <@48 85 @1143 7 180 276 402 7.5 :
80 0.03 0.13 0.44 2.57 7.03 22.51 . N .
100 0.03 0.13 0.44 257 703 22 51 * CI~CTANHSRERRCRY , TiRES P ERBEIMEM, * C8~C10MEL=EIANARMEMER.

1 BGEREL( =N,/ N,,,)
* ELIEEEEERSER 0 Z—.

13 HONGJI

2. mgELy 100 rom [, (EARTRHHETOME.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised.

HONGJI 14

* C8~C10 Length will vary depending on motor.



HEL

HONGJI

TEFS

ENN4EE=EF / GEAR BOX PERFORMANCE INFORMATION

B | mEp FPG040 FPGO60 FPGO080 FPG120 | FPG160
24| FPGA040 FPGAO6O FPGA080 | FPGA120 | FPGA160
423

FERHNE T,

RAHIHA

7B Tog

SEHNGEE N,
BAHAGEE N,

AR
HEENTE
BFEEAN
BVFRE N
(Ediikan)

5% N

8

{ERRE
EE
BEIPZER
*“ﬁh
REE (

R 5 B 152

- FPG040 FPG060 FPGO80 FPG120 FPG160
4 1

2
FZrB

2
FZaB

3000

BHRE J,

TRUELL(=N, /N )

8 104 215
4 176
1 5 14 39 104 215 423
7 12 33 91 195 358
8 10 33 80 160 330
10 9 23 45 110 210
12 14 39 104 215 423
Nm 15 14 39 104 215 423
20 12 31 85 176 364
25 14 39 104 215 423
2 30 - = 104 215 423
85 14 39 104 215 423
40 14 39 104 215 423
50 = = 104 215 423
70 - - 104 215 423
100 9 23 45 110 210
Nm 1,2 3~100 =EEERL N5E
pm 1,2 3~100 4500 4,000 3,600 3,000 2,500
rpm 1,2 3~100 8000 6,000 6,000 4,800 3,600
arcmin 1 3~10 <8 <8 <6 <6 <6
2 12~100 <10 <10 <8 <8 <8
Nm/arcmin 1,2 3~100 0.8 22 7.2 14.5 65.5
N 1,2 3~100 300 680 1,750 3,080 6,520
N 1,2 3~100 150 340 875 1,540 3,260
hr 1,2 3~100 20,000*
% 1 3~10 >97%
2 12~100 294%
' 1 3~10 0.7 1.7 3.6 8.2 18.2
2 12~100 1.0 24 5.0 1.4 249
°C 1,2 3~100 -10°C~+90°C
1,2  3~100 &R hAR
1,2 3~100 1P64
1,2 3~100 FEEAE
dB 1,2 3~100 <68 <70 <72 <74 <75

kg-cmz

8
4 016 060 331 12 22 34 63
1 5 0.16 0.59 3.28 12.10 34.24
7 0.16 0.59 3.27 12.05 34.07
8 0.16 0.59 3.26 12.03 34.02
10 0.16 0.59 3.26 12.03 34.02
12 0.16 0.59 3.28 12.10 34.24
15 0.16 0.59 3.28 12.10 34.24
20 0.16 0.59 3.28 12.10 34.24
25 0.16 0.59 3.28 12.10 34.24
2 30 - - 3.26 12.03 34.02
85 0.16 0.59 3.28 12.10 34.24
40 016 059 3.26 12.03 34.02
50 = = 3.26 12.03 34.02
70 = = 3.26 12.03 34.02
100 0.16 0.59 3.26 12.03 34 .02

*BEIEAEIEEE(S5) T Z i A 7 A 520,000/ B, FELLESE(S1) T Z & A F A MIFEIR50%.

B IRERTE2%IE NIET, MH A TG

15 HONGJI

2F 0 F M6 100pmEt, {ER T s LS

MHELE

HONGJI
TERY
SMZRTEZ / OUTLINE DIMENSION SHEET
BN/ INPUT HiHius/OUTPUT
C9
Cc7 12 c8
L7 :
6 | L5 }
8| 2 - R
S o 3 E% t HH 8
— T
R | e
L3 ‘
Cc10
c4
B/ INPUT f411%/OUTPUT
Cc9
Cc7 L2 cs
L7 :
6 | 15 }
z I Y R R
° 8| 3 Ej‘b —— : | ‘é{ 2
[ T
‘EIJ L4 i Cc6

L3

D5
HH4H7R\Output Diameter ‘_r Y

D3h6

RS oo o0 o1 os Lo el sl Toi] oo Lo [oal s ek ol o oo i

L1 @46 4-Max12 <011 230 42 715 975 55
FPG-040 @34 4-M4x9 @10 @26 M3x05P @40 95 26 2 1 18 25 23 3 112

L2 @46 4-Max12 <@11 30 @30 35 42 96 122 55

L1 @70 4-M5x12 <16 32 @50 5 62 83 118 7
FPG-060 52 4M5x10 @14 @40 M5x0.8P @60 125 35 3 1 25 25 31 5 16

L2 @70 4-M5x12 <@16 32 @50 5 62 104 139 7

L1 @90 4-Méx12 <@24 42 @70 6 90 117 157 7
FPG-080 70 4-M6x12 @20 @60 M6x1.0P @905 165 40 3 1 28 4 36 6 225

L2 @90 4-M6x12 <@24 42 @70 6 90 1415 1815 7
FPG-120 L1 100 4M100 @25 G80 M1OXISP @120 23 55 4 1 40 5 50 2o 4MO2S Ee N ) R 8 28

- -M10x d

L2 X @90 4-M6x14 <@35 53 @70 8 120 185 240 9

L1 @200 4-M12x30 <38 86 ©1143 7 176 205 292 33
FPG-160 @145 4-M12x22 @40 @130 M16x2.0P @160 36 8 5 2 65 8 80 12 43

L2 0145 4-M8x25 <@38 775 ©110 10 160 229 316 245

* C8~COlEZ i DA RMBERER.
* C8~C9 Length will vary depending on motor.

* CI~CTARFIDIAEERZ R | AIRIES FERKRmEM.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised.

HONGJI 16



MHEL

HONGJI

TERS

SMEZRTEZ / OUTLINE DIMENSION SHEET

BN/ INPUT co HiHiE/OUTPUT
L2 Cc8
Cc7 oL1
L7
6| 15 } o
| O@DQ
; S e S i@\
5 5 [EP S sfs
] | o O S
| ko)
L4 ‘ o
= \
L3 c10 402 /<@
L8 c4
FPGA-L2 (XX4%/2-STAGE)
N/ INPUT co HiHiE/OUTPUT
L2 cs
Cc7 ol1
L7
L6 L5 } &
|
. — iy [ e
5 z 7E;‘]> —— 1 -8l 8
N I
e ] | ce 5
L4 ‘ H
c2 e c10
L8 ca

HdHiH#R\Output Diameter

5 42 6.5

L1 @46 4-M4x9 =<@11 30 @30 3. 715 975
FPGA-040 @50 @35 @10 @26 M3x0.5P @60 45 26 2 1 18 25 23 6 95 3 1.2
L2 @46 4-M4x9 <@11 30 @30 35 42 9 122 55
L1 @70 4-M5x12 <@16 32 @50 5 62 83 118 7
FPGA-060 70 @55 @14 @50 M5x0.8P @82 62 35 3 1 25 25 31 8 125 5 16
L2 @70 4-M5x12 <@16 32 @50 5 62 104 139 7
L1 @90 4-Méx12 <@24 42 @70 6 90 117 157 7
FPGA-080 100 @7 @20 @80 M6x1.0P @120 92 40 3 1 28 4 36 10 165 6 225
L2 @90 4-M6x12 <@24 42 @70 6 90 1415 1815 7
L1 @145 4-M8x25 <@35 64 @110 8 130 161 216 20
FPGA-120 130 @9 @25 @110 M10x1.5P @167.5124 55 4 1 40 5 50 15 23 8 28
L2 @90 4-Méx14 <@35 53 @70 8 120 185 240 9
L1 @200 4-M12x30 <@38 86 @114.3 7 176 205 202 33
FPGA-160 @185 @11 @40 @130 M16x2.0P @220 175 87 5 2 65 8 80 16 36 12 43
L2 @140 4-M8x25 <@38 77.5 @110 10 160 229 316 245

* C8~C1ORER A DIANI A RMEER.
* C8~C10 Length will vary depending on motor.

¥ CI~CTARHIDAEERZRY |, AItRIEE P EREREN.

* C1~C7are motor (metric std shown) specific dimensions , which could be customised.

17 HONGJI

4

13

HONGJI

FATZ7I

mEk / PRODUCT PICTURE

FAT-L/-L1/-R1

FAT-H/-C

FAT-FH/-FC

—_

7=

FATHE RIS / Gearbox Performance

MAB

Model No.

FEMHNE T,y

BAMEDE T
B A DR N R
B °
BYRBEAF,°
I Hhd 1
gitF/éFﬂjJ FerD
MiH d2
BEHMBEAN F, ¢
B d1
BRUEHME D F,.g°
M d2
fERAED ©

ME n

£ R

R

IR Z{E (n=1500rpm , THE) dB(A)

Nm

Nm
rpm
arcmin

N

N

N

N

hr
%
“©

1

FATO065 L
FATO65 L1

FATO65 H

FAT065 C
FAT065 R1
1 25
1.5 25
2 24
3 18
7,500
<6

700
1=8 900
1=8 350

450

FATO75 L FAT090 L
FATO75L1 | FATO090 L1
FATO75 H FAT090 H
FATO75 C FAT090 C
FATO75R1 | FAT090 R1

45 78
45 78
42 68
33 54

1.6 FFUERH 4E (1

6,500 5,500
<6 <6

950 1,450

1,100 1,700

425 725

550 850

<70 <74

AR

=ik kiiuces

[S1i:va)

B

ER%mw

(=]
RUEIR

-
3]

RIENRERT

Products characteristics
Various output options
High torque
High efficiency
Long service life
Reduced backlash
Maintenance free
Flexible mounting dimensions

FAT110 L FAT140 L FAT170 L FAT210 L
FAT110 L1 FAT140 L1 FAT170 L1 FAT210 L1
FAT110 H FAT140 H FAT170 H FAT210 H
FAT110 C FAT140 C FAT170 C FAT210 C
FAT110 R1 FAT140R1 | FAT170R1 FAT210 R1
150 360 585 1,300
150 360 585 1,300
150 330 544 1,220
120 270 450 1,020
.5 times of Nominal Output Torque)
4,500 3,500 3,000 2,200
<6 <6 6 6
2,100 2,700 3,800 7,800
2,700 4,800 6,600 11,500
1,050 1,350 1,900 3,900
1,350 2,400 3,300 5,750
20,000
295%
-10°C ~ 90°C
A FEBAE (Synthetic lubrication oils)
<76 <77 <78 <80
HONGJI 18



13

HONGJI

I

FATZ5

FAT; =B Z51t5e%% / GEARBOX PERFORMANCE

A&

Model No.

HE B A8 Ty

RAIESIE Tes

B K DR S N F 3 nog

e

BYREBA F,p®
it #d 2
BYHE N F,up®
M d2
fERED °

ME n

£ /AR
Ve

RE(E (n=1500rpm , ToHugk)

19 HONGJI

Nm

Nm

rom

arcmin

N

N
hr
%

oC

dB (A)

Rk
Stage

-
w

N WN-= WN-=2N

N
w

-
N
w

1,2,3

2,3
1,2,3

1,2,3

H kA
Ratio

100
120
150
200
300
1~300
1~3
4~20
25~300
1~3
4~20
25~300

1~300

1~300
1~300
1=
4~300
1~300

1~300

FATO065 FL FATO75 FL
FAT065 FL1 FATO75FL1
FAT065 FH FATO75 FH
FATO065 FC FAT075 FC
FAT065 FR1 | FAT075FR1
25 45
25 45
24 42
18 33
25 45
25 45
25 45
25 45
24 42
24 42
18 33
24 42
25 45
25 45
25 45
25 45
24 42

7,500
8,000

<6
<10

900

450

6,500
8,000

1,100

550

FAT090 FL
FAT090 FL1
FAT090 FH
FAT090 FC
FAT090 FR1

78
78
68
54
78
78
78
78
68
68
54
68
78
78
78
78
68

5,500
6,000

1,700

850

FATHMOFL | FATI4OFL | FATI7TOFL | FAT210FL
FAT110 FL1 FAT140FL1 | FAT170FL1 FAT210 FL1
FAT110 FH FAT140FH | FAT170FH FAT210 FH
FATHOFC | FATIOFC | FATITOFC | FAT210FC
FAT110 FR1 FAT140FR1 | FAT170FR1 FAT210FR1
150 360 585 1,300
150 360 585 1,300
150 330 544 1,220
120 270 450 1,020
150 360 585 1,300
150 360 585 1,300
150 360 585 1,300
150 360 585 1,300
150 330 544 1,220
150 330 544 1,220
120 270 450 1,020
150 330 544 1,220
150 360 585 1,300
150 360 585 1,300
150 360 585 1,300
150 360 585 1,300
150 330 544 1,220
120 270 450 1,020
150 330 544 1,220
120 270 450 1,020
120 270 450 1,020
150 330 544 1,220
120 270 450 1,020
1.5 {EFERmE N5 (1.5 times of Nominal Output Torque)
4,500 3,500 3,000 2,200
6,000 6,000 6,000 4,800
8,000 8,000 6,000 6,000
<6 <6 <6 <6
<10 <10 <10 <10
<12 <12 <12 <12
2,700 4,800 6,600 11,500
1,350 2,400 3,300 5,750
20,000
295%
292%
-100C ~ 900C
B RCER AR
<77 <78 <79 <81

<76



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32

